| Efficiency vs Dxy |

0.3
@ 0.09
>

80.08
I3

$0.07
0.06
0.05
0.04
0.03
0.02
0.01

dxy

................................

eff

...............................

......................................

1Q

..............................

Ratio

10 15 20
TP dxy (cm)

5

| Efficiency vs Dz |

N 0.021
o

T epZ, tidl TdS
e ate _ste ‘é l_f'tlba
gﬁﬁsm@ﬁs‘émé’ﬁ.@augf
uar
uar

9.018F
oy
9.016
‘©
£.014
()
0.012F
0.0
0.008
0.006F

.................

.....

...............................................

0.0041
0.002F

r [
o J__Q: 11 1 | : 11 1 : 11 1 ! 11 1 1 ! 11 1 1 11 1 |
=] E : ] e ]
C 1. CRPEPRRS: S B B N A O R EEPEPEPEEPE PERPEPRRRR
0: C ¥ Eo T
(| SEEEEEEPE Beeeee- - 4R b i R
3 : : Sl
0.9:— """"" EARRRE A R ot G O 1 I A
-20 -10 O

2030
TP dz (cm)

10




	Contents
	Page 1


